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.gﬁﬂﬁ!i:t-’em_w__ e |- 7510000 348000
| B %itﬂ aszo00]  66.000
mﬁng:&g H 1.427.000 37,000
AR 3.088.000 A 256,000
HEENR L 1,445,000 A 53,000
IERRIH 1,206.000 474000
EBRERARE 49.085.000 A 165.000
FREXH 1,282.000 1,104.000
_ EBAREH 42,000 A 16,000
L 6.731.000 480,000
882,000 158,000
454.000| A 6.000
552,000 604,000
0 ~.20.000]
6.823.000 A 6:37,000
81.000 179.000
0 0
— 507,314,000 36.016.000
65,878,000 A 18,368,000]
i 0 a
=& 3} [}
B [1] a
% 0 0
Iz 0 0
x 38,233.000 A 1.458.000
% 1,842,000 A 1.172.000
1R 2,568,000 0
* [i] 0
40,013,000| 42 643,000 A 2,630,000
A 40013.000 A 42 843000 2.630.000
% g 0 0
) [i} 1] 0
] 0 0 i]
(1)) 13.078.000 14,284,000 A 1,205,000
& 0 0 [i]
L} 13,078,000 14,284,000 A 1,208,000
1= 4,680,000 5.070.000 A 390,000
& 0 50,000 A 50,000
% [y [ 0]
IR 13.078.000 14,284,000 A 1,206.000
* 0 a i}
B 0 s A (8) 17,758,000 37,404,000 A 19,648,000
9)=(73=18] ‘A 4,880,000 A 23120000 18,440 ooni
FERE(I0) 7] 0 )
| SRS ERS N (11)=(3)+(6) *(9)-(10) 2,816,000 115,000 2,701,000
E ﬁiﬁ Exﬁnn {12) 297.889.000 297.774.000 115,000
IR R EA® (11)r12) 300.705,000 297,889,000 2.816,000
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NERISNEETBER

FH2EEESINETH ()
#H&EBHEEAVDERESS
FHE | mEEIEsE | 1
EXFWIEDINE
NN EREZRA 0 0 0
A zotoEERA 300,000 155,000 145,000|
BAZFISHEIEIRA 0 0 0
BEESBIHERA 0 0 0
SIF SESFIA 0 0 0
T DD UL A 0 0 0
SREMAE(1) 300,000 155,000 145,000
X I ABEXH 0 0 0
Higemen 83,000 37,000 46,000
BEEAEXE 83,000 37,000 46,000
FHRIH 27,000 3,000 24,000
BHHERERERH 5,000 0 5,000
RS R E T H 5,000 0 5,000
BEEREBTY 5,000 2,000 3,000
AR N 5,000 0 5,000
FRBZTH 2,000 0 2,000
M 5,000 2,000 3,000
ZHFI BRI 0 0 0
TDHD T 0 0 0
SEIHE(2) 110,000 40,000 70,000
BEEBHNEZEHE)=(1)-(2) 190,000 115,000 75,000
ERREFIC I DMK
. ERBRZMAA) 0 0 0
MERE RS X HE (5) 0 0 0
SRR SR RITZHE(6)=(4)-(5) 0 0 0
TOMDEBICEBINE
MBBIULAEHD) 0| 0 0
MBEREHET(8) 0 0 0
MBEBINZEH(9)=(7)-(8) 0 0 0
FHE(10) 0 0
LA BRI EBEE an=()+©)+@-(10) 190,000 115,000 75,000
WA ESEE (12) 791,000 676,000 115,000
BRI EERS (11)+(12) 981,000 791,000 190,000




